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10.

SECTION - A
SCIENCE

is used for electrical measurements.
a) Thermometer b) Galvanometer
¢) Voltmeter d) Electric meter

The free fall of an object is possible only in
a) air b) vacuum

¢) on the surface of earth d) None of these

Find an odd one out.

a) Water b) Wind

¢) Natural gas d) Fossil fuel

We get energy from lipids.

a) 4 cal/gm b) 9 cal/gm

¢) 9 kcal/gm d) 4 kcal/gm
Similarities in the initial stages indicate the evidence.
a) Connecting links b) Anatomical

c¢) Embryological d) Palaeontological

Find an odd one out.
a) Sodium b) Aluminium
¢) Phosphorus d) Potassium

twins are formed from a single embryo.

a) Dizygotic b) Monozygotic
c¢) Multiple zygotes d) Zygote

At the time of Mendeleev elements were known.
a) 56 b) 65

c) 63 d) 118

When the positive charge on an ion increases or the negative charge on them decreases it is
called as

a) reduction b) corrosion

c) oxidation d) decomposition

If pressure increases, the melting point of a substance
a) does not change b) decreases
¢) increases d) remains constant
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10.

SECTION - B
MATHEMATICS

The solution of the equation 2x —y =2 is.
a) (2,2) b) (5,2)
¢)(2,5) d) (5,5)

Given AABC ~ADEF, if ZA =45° and ZE = 35° then ZB =?
a) 45° b) 35°
c) 25° d) 40°

Which of the following quadratic equation has roots —3 and — 5 ?
a)x’—8x+15=0 b)x*—8x—15=0
O)x’+8x+15=0 d)x*+8x—15=0

In right angled triangle, if sum of the squares of the sides of right angle is 169, then what is the

length of the hypotenuse?
a) 15 b) 13
c)5 d) 12

A circle touches all sides of a parallelogram. So the parallelogram must be a
a) rectangle b) rhombus
c) square d) trapezium

Degree of quadratic equation is always .
a) 1 b) 2
c)3 d)4

The distance between points P(-1, 1) and Q(5, -7) is
a)ll cm b) 10 cm
c)Scm d) 7 cm

Which of the following is linear equation in two variables?

) X426 b)2x* —3y=8-3y
3y
¢) x+2y=5-3y d)3x*+y=0

Which of the following is not a test of similarity?
a) AAA b) SAS
c) SAA d) SSS

A set of numbers where the numbers are arranged in a definite order, like the natural
numbers, is called a

a) index b) numbers

c) line d) sequence
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10.

SECTION -C
LOGICAL APTITUDE

Pointing to a boy in a photograph, Akhil says, “He is the son of my mother’s only son. “How is
AKhil related to boy?”
a) Uncle b) Brother ¢) Father d) Cousin

One year ago, the ratio of Yamini and Gamini was 6 : 7 respectively four year hence. The ratio
would become 7 : 8. Find the age of Gamini?
a) 30 years b) 32 years c) 36 years d) 40 years

Meena correctly remember that her father’s birthday is after 18™ May but before 22" May.
Her brother correctly remembers that their, father’s birthday is before 24" May but after 20"
May. On which date in May was definitely their father’s birthday?

a) 20" b) 19" c) 18" d) cannot be determined

How there this = 6V 4D 5SH

Game is over =3H 51 5V

Physics =?

a)8S b) 8 H c)78S d)7H
Which of the following alternatives will complete the sequence?

a_c _abb _a bc bc _ab

a) cbcaaa b) beecab ¢) becaac d) acbabc

Boat is related to oar in the same way as bicycle is related to
a) Road b) Wheel c) Seat d) Paddle

Engineer : Machine
a) Doctor : Disease b) Doctor : Medicine
c¢) Doctor : Hospital d) Doctor : Body

Find the odd one out:
a) Huge b) Tiny c) Heavy d) Small

Choose the correct mirror image from alternatives A, B, C and D of the figure.

AN PNt

(a) (b) (©) (d)

Which alphabet is opposite to D ?

a)E b) C A E

¢)F d) A D
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